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* Collisions may occur during RTS-CTS exchange.
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RTS-CTS exchange 可能發生collisions的範例：(摘自: Lin, C.R.; Gerla, M.; “Asynchronous Multimedia Multihop Wireless Networks”; INFOCOM '97. Sixteenth Annual Joint Conference of the IEEE Computer and Communications Societies. Proceedings IEEE , Volume: 1 , 7-11 April 1997 Pages:118 - 125 vol.1)
The RTS-CTS dialogue can be used as the building block to eliminate the hidden terminal problem. However, it still does not resolve all of the hidden terminal problems. If one of the stations within range of CTS does not hear the CTS, it may not honor the CTS and later may cause a collision at the receiver. In the hidden terminal scenario in Figure 4, first, assume S is sending RTS to D at time t1. Upon receiving RTS, D sends CTS to S at time t2. Typically, CTS prevents collisions from hidden terminals like D1. However, assume that S1 also transmits RTS to D1 exactly at time t2. CTS and RTS collide at D1. D1 will not receive either RTS from S1 or CTS from D. Thus, D1 has not learned of the CTS from D and may later transmit an RTS, which collides at D with the impending transmission from S.
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Figure 4: The collision due to the hidden terminal problem













